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Two—InputT One—-0Output Linear
Function

Assume a dataset contains M objects

Each object can be described by two features: z; and x-.
Each object has a property: y

We would like to know the relationship between z1, x5 and y

f($1,$2) = § = wiT1 + wax2 + b



Neural Hetwork Form
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Matrix Form

Sf:X-wT—I—b



Input (Feature) Matrix

(M,1)

(M1)

X =[x1 x2 (M,2)



Model Paramefters

W =|w; ’w2](1,2)
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Mean Sguare Error Loss



Gradient of Loss

ve=[f 45 %]
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Vectorized Gradient
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Vectorized Gradient Descent

Given dataset: {((1))(,(1) y), ((2))(,(2) y) e ((M)X,(M) y)}

Initialize wand b
Repeat until converge {
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where « is learning rate



